PLANT ENTERPRISES PRODUCTION						
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood				18,970	cords	
Pulpwood (Total)				18,970		
Saw Timber						
Hardwood				4,880,807	board feet	
Saw Timber (Total)				4,880,807		
Total Pulpwood, Chip & Saw,	,					\$3,268,706
Saw Timber FOB Mill						
Total Forestry Stumpage						\$1,783,704
Forestry (Total)						\$3,268,706
HAY FOR SALE						
Grass	355	12,020.0	1.95	23,439	tons	\$1,171,950
Hay for Sale (Total)		12,020.0				\$1,171,950
HOME GARDENS	390					\$117,000
RICE	10	14,325.0	52.40	750,630	cwt.	\$6,005,040
SOYBEANS	*	680.0	20.00	13,600	bu.	\$84,456
SUGARCANE						
Raw Sugar	*	500.0	2,800.00	1,400,000	lbs.	\$170,100
Molasses		500.0	84.00	42,000	gal.	\$6,090
Sugarcane (Total)		500.0				\$176,190
TOTAL ALL PLANT ENTER	PRISES					\$10,823,342

	Number of	Units of	Total	Units of	Gross Farm
Fisheries	Producers	Production	Production	Measure	Value
AQUACULTURE					
Alligators (Farm)			43,563	ft.	\$740,571
Oysters **	85		18,000	sacks	\$308,880
Soft-shell Crabs	12		600	doz	\$12,000
Aquaculture (Total)					\$1,061,451
FRESHWATER FISHERIES					
Freshwater Finfish **	20		46,027	lbs.	\$25,416
Freshwater Fisheries (Total)					\$25,416
MARINE FISHERIES					
Shrimp **	200		4,375,045	lbs.	\$3,983,041
Crabs **	95		1,531,482	lbs.	\$1,085,208
Commercial Finfish **	75		1,420,365	lbs.	\$2,061,234
Marine Fisheries (Total)					\$7,129,483
FUR ANIMALS			6,855	pelts	\$50,316
ALLIGATORS (WILD)			38,827	ft.	\$815,378
HUNTING LEASES					
Waterfowl	150	426,240 No. Acres		acre	\$6,393,600
		Leased			. ,
Hunting Leases (Total)					\$6,393,600
TOTAL ALL FISHERIES & V	VILDLIFE ENTERPRISE	S			\$15,475,643

** The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMA	<u>AL ENTERPRISES P</u>	<u>RODUCTIO</u>	N		
Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
			12,987	head	\$5,751,812
			3,989	head	\$2,013,687
			1,320	head	\$737,979
			250	head	\$159,250
					\$8,662,729
			3,800	head	\$1,532,027
			7,900	head	\$3,674,093
			680	head	\$358,928
					\$5,565,047
			3,260	pair	\$3,097,000
				*	\$2,451,491
			,		\$1,359,306
432	37,986 No	o. Cows	,		\$21,135,573
	,				
*	50 No	. Brood Mares	25	head	\$200,000
75	110 No	. Brood Mares	25	head	\$87,500
	105 No	. Brood Mares			\$45,000
					\$332,500
					+ <u>-</u> ,- • •
	5 No	. Stallions	100	mares bred	\$200,000
					\$75,000
					\$6,000
	5 110		50		\$281,000
*			120	head	\$1,200,000
	Number of Producers 432 * 75 100	Jumber of Producers Units of Production 432 37,986 * 50 75 110 100 105 5 No 5 No 3 No	Number of ProducersUnits of Production43237,98643237,986*50No. Brood Mares75110100105No. Brood Mares1001055No. Stallions5No. Stallions3No. Stallions	Producers Production Production 12,987 3,989 1,320 250 1,320 250 3,800 7,900 680 3,260 3,260 5,970 1,480 432 37,986 No. Cows 3,260 * 50 No. Brood Mares 25 100 105 No. Brood Mares 25 100 105 No. Brood Mares 30 5 No. Stallions 100 5 3 No. Stallions 50 30	Number of ProducersUnits of ProductionTotal ProductionUnits of Measure12,987 3,989 head 3,989 head 1,320 head 250 head12,987 head 3,989 head 1,320 head 250 head3,800 680 head 680 head 3,260 pair 5,970 head 1,480 head 1,480

ANIMAL ENTERPRISES PRODUCTION

Page 3 of 4

ANIMAL ENTERPRISES PRODUCTION							
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value		
HORSES							
Show Horses	80		120	head	\$480,000		
Recreation Horses	80		120	head	\$180,000		
Horses (Total)					\$2,473,500		
SHEEP							
Slaughter Lambs			30	head	\$3,656		
Show Lambs			50	head	\$13,750		
Stocker Sheep			10	head	\$750		
Cull Sheep			5	head	\$275		
Sheep (Total)	*	30 No.	Breeding		\$18,431		
		Ewe	es				
GOATS							
Show Goats			125	head	\$23,125		
Slaughter Goats			50	head	\$5,250		
Stocker Goats			50	head	\$4,250		
Cull Goats				head	\$3,000		
Goats (Total)	*	150 No.	Does		\$35,625		
SWINE							
Show Pigs			150	head	\$49,500		
Feeder Pigs			100	head	\$4,600		
Slaughter Hogs			10	head	\$1,560		
Culls			10	head	\$1,120		
Swine (Total)	*	30 No.	Sows		\$56,780		
TOTAL ALL ANIMAL H					\$23,719,909		
CAMERON PARISH	TOTAL				\$50,018,894		